Algorithm 1 #|f WTA ¥ 3z R £ 69 F 7%

input: pCost: 1% % & (i,j,0) 89 K41
pCostBase:4% % & (1,j,0) 31233k
maxDisp: A ER % & B
factorUniq: Yo 3% % 3%
output: pDestDisp:p &4 RIEAZE
1: for each i € [0, height — 1]andj € [0, width — 1] do
2: final = min(j, maxDisp)
3 if final=maxDisp then
4 T H & AR HrminCost
5: T H 5 & DR secMinCost
6: pCostBase®best Disp& 5] 2 K RAE A minCost
7 if minCost <= secMinCost * factorUnig then
8 pDestDispdt ©lbest Disp
9

: else
10: if pCostBase®bestDisp + 1% 51 & A& A secMinCost or pCostBase®best Disp + 1% 5] &
{8 A secMinCost then
11: pDestDispd @lbest Disp
12: elsepDestDispis ®—10
13: end if
14: end if
15: else
16: T+ H & AR hminCost
17: T H 35 & DR secMinCost
18: pCostBase®best Disp & 5| LKA A minCost
19: if minCost <= secMinCost * factorUniq or |bestDisp — secBestDisp| < 2 then
20: pDestDispit @lbest Disp
21: elsepDestDispis ©—10
22: end if
23: end if
24: end for




